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[1:Xiva miErLE U | BRIRFLED U |JIIERLEDUINIA)| S | BE | k8| =
3 | ML UM 0 — 1 0 — 6 0 7 -7
2 | BEiRFLEUN — 0 0 — 4 1 4 | -3
1 |NgkLE2UIIA)] 6 — 0 4 — 0 10| o | 10
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1 INT4—SC 6 — 0 2 — 0 6 8 0 8
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1 |JIgkLE2UT1(A) 3 — 0 7 — 0 6 10| o | 10
2 NT14—SC 0 — 1 — 1 1 4 | -3
3 BTEHJFC 0 — 1 — 1 1 1 8 | -7

QB —k>

JE AL BERRLE UL (JIBRLEUT1(B)|NPO FC/A—S D | B | B8 [ ki | =
3 | EEiRFLEUN 1 — 1 0 — 3 1 1 4 | -3
2 |ngkLEUB) — 0 — 1 1 1 2 | -1
1 |NPO FC/R—LEY| 3 — 0 1 — 0 6 4 0 4

BHL/s—k>

[1:Xiva tErLE U | SERLE U (RBER VU A |85 | kA | =
3 | ML U 0 — 0 1 — 3 1 1 -2
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